WORD PROBLEMS AMUSEMENT PARKS LESSON 6 pu,
Q@ DO

—

76 boys went on the roller coaster. So did 90 girls. How many
more girls?

63 people rode in 7 log cars. How many people in each car?

Timmy bought 3 cotton candies at 45 cents each. How much did he
spend?
9 people paid 75 cents each to go on the Octopus ride. How much

in all?

Connie road the Tidal Waver 22 times and Flying Turns 9 times.

How many ridesinall?

Billy, Carol, Jimmy and Linda were scared 5 times each on the
Tunnel of Fear ride. How many scares did they have in all?
The Ferris Wheel held 72 people. 8 people were allowed in each
car. How many cars were there?

The Octopus had 8 cars. Each car held 4 people. How many

people in all?



https://drive.google.com/file/d/1owOH2gvdza4H1sQuA9QeZ7dUpLr8Fnzq/view?usp=sharing

